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[1-10] ¥ H 7 ma B 7 = =L K& (BT : pg/m?)

TS 2014 AEEHE
WHBEE (M —2) @ 31/36(XK % : 0) ST L5 i tr(0.020)
MR (BRik<—2x) : 3L36(KM% : 0) f%ﬁ tr(0.020)
9 H T BRAE ¢ 0.01 z;fjt i 0.13
TE & TR : 0.04 I/ ME nd
o | LR 2 - VR 3] T T T —
iy /o aEi kN =5 A A Hb R R
9/18~9/24 nd MV
& 1 |IERERRE (ST
9/16~9/17 nd HV
kLR 2 |FLmREEfr oA (FLIRT) 9/17~9/18
9/18~9/19
9/1~9/2 nd HV
a5 F IR 3 |MEAX— (FAHT) 9/2~9/3
9/3~9/4
9/2~9/9 tr(0.02) MV
[2£790 4 |EHEAE ARFET lET)
9/2~9/9 tr(0.02) MV
PRI 5 |AWRESHRER Y F— (L#HT)
9/2~9/9 tr(0.02) MV
TG IR 6 |[BEERAAEBREEIZEET (G
9/25~10/2 tr(0.01) MV
FIER 7[Rk — BB RS E /- ()
9/3~9/10 0.05 MV

8 | HHRBREEREAITERT (TL3RIX)
HOUHR

10/19~10/26 nd MV
9 INEEARE
9/8~9/9 0.13 HV
iy 10 |[MRJINRERER Y22 — (F&N) 9/9~9/10
9/10~9/11
9/1~9/8 tr(0.02) MV
Rl 11 |BRE TR BER A gE AT (i)
8/25~8/26 tr(0.03) HV
B R 12 | RI—MEERERKNER G ) 8/26~8/27
8/27~8/28
8/25~8/26 tr(0.03) HV
LR 13 | — AR R KME R (W) 8/26~8/27
8/27~8/28
9/8~9/9 tr(0.03) HV
)11 14 AR EEREEE v ¥ — (&IRT) 9/9~9/10
9/10~9/11
8/26~8/27 tr(0.02) HV
LAY IR 15 [ IIAL R A R BRI ST (H R TT) 8/27~8/28
8/28~8/29
9/2~9/9 tr(0.02) MV
EEE 16 |EFFIRRERSMIET (EFl)
9/16~9/17 tr(0.01) HV
Mt 3. I 17 | RIRERAEBR BERF TR AT (4515 i) 9/17~9/18
9/18~9/19
0/17~9/24 tr(0.01) MV
i 18 | TR ERIAR (4 H R
9/1~9/2 tr(0.01) HV
—ER 19 |=EEREREEMZEET (WA T 9/2~9/3
9/3~9/4
. jo [HFTHSE TR A K BERFSRBER AR PE R e (0.03) HV

BEFERT (KBiit) A
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